Dooooooooooooon
0000000000000000000000000000

1.0 0O

gbboobooboobobodg,ggbouoobboobuooboobbooboobn
QOO00D0O0O0OOO00oDOooboOgooooo.

Poled) _ Av(w,t) =0 (z€Q) (1)
v(z,t) =0 (x€0) (2)
ooag,
x = (r1,22)
A: 000000000
ooo.

0000000000, 0000000000o0o000o00UooO0o0DLOoOOo0ooOOO (0O
0000000000O0O0O000)0000000. 00000 yOOODODODODDOOODODOOOOOO
gooobooboboo.boobobooboobobooboboboboobobboobooon
gobodgboooood.
goboobooobbooobooboobooboobboobon.

2.00000

QOboOooooooooooooooDo.
0(1),(20 000000000 20000 HelmholtzOODODOOOOOOODO.

{(A +:2u(z)=0 (z€Q) (3)
u(z) =0 (ze€0f) (4)

000000000000 u(z) O
u(x) = up(x) + us(z)
O000.00,uw(zx)00000000OO.
uo(z) = (2m) " Heap(izk) — exp(izk)}
oo,

Kk = (K1, K2)
’%:<"£17_K/2)
goooboo.
us(x) 000 000000O0O0O0OO.

up(z) 0 HelmholtzOO OO OO OODO,000 us(z) D000 HelmholtzOO OO OOOODOOODO
0. 000000wu(z) 0000000000000 0OOOO0OOOOODDOO0OOOOODOO:

Oug(x)
or

— huy(x) = o(—=) (r = |2 — +oc)

1
NG
00000000000O0O000O (s)oo0o.

wi©) = [ {Grweeo - Faouna o



Dirichlet 0000 (5)0000 (600000000,

w(©= [ S@G o ©)
o9, In
googd
w©)=w@+ [ S@aEoar 1)
Q. ON

000 G(z,§) 0 HelmholtzO OO OO UOOOOO ,Hankel DO OOOOOOOOOODOOO.

Gle.&) = (A (sl — ) — B (sl ~ €))

00,H" 0000 Hankel D 0000
0000 A(r,w,¢)0000000000000000:
A G S g S
= _— 2 = = —
u(z) = ug(x) + (r,w,¢)\/§+0( ) (R=IE], 0=3)

00000o0ooooooooo,0000 A(r,w,)0000.R—o0o000O

{u(@) = uo(2)}VRe™"™ = A(r,w, ¢) + o(1)

3.0000

0000000000000000.0000000 (MmODO0DO00000 u(x)00O0O0O Neumann
00o0o0ooU0ooUo,0b0o0000o0 (HMOoOw¢OooOOoLooUooUooo. Dooo,
gooNOoOooobooobooboooo,0obobbogobooooboboobobooobo. oo,
oooooocooooooooooo.

ubooboooboooobooao.



